SCHOOL BASED ASSESSMENT 2024-25
Mid-Term Science Grade 6

School Name:

ANSWER KEYS

Q. No.l1:d Q.No.2:¢c Q.No3:b
Q.No4:b Q.No.5:a Q.No.6:d
Q.No.7:a Q.No.8:b Q.No.9:d
Q.No.10:a

ANSWERS / RUBRICS

Question No: 11

a ) How compounds are formed? (2 Marks)
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Rubrics: Award two marks for correct answer.
Model Answer: When atoms of different elements are combined,
compounds are formed.

Write the compounds produced as products in the following reactions. (4 Marks)
1. Nitrogen+Hydrogen—?

2. Carbon+Hydrogen—:?

3. Sodium+Chlorine—?

4. Hydrogen+Oxygen—:?
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Rubrics: Award one mark for each correct name.

Model answer: R
1. Nitrogen+Hydrogen—Ammonia gﬁ;/“lﬁu%ui’l[—&}:l-l
2. Carbon+Hydrogen—-Methane w;(+&;;i’l[—>@ﬂ-2
3. Sodium+Chlorine—Sodium chloride (53’/+J1}g—>i’wg@5r-3
4. Hydrogen+Oxygen—Water i
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Write any two differences between elements and compounds(4 Marks)
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https://pecassessment.com/admin/pilot_items/pilot_view_combine/29532

Rubrics: Award two marks for each correct difference.
Model answer:
1. Elements consist of only one kind of atoms while compounds
have elements of different atoms.
2. Elements cannot be broken down while compounds can be
broken down into simpler substances.
3. There are nearly 118 elements while compounds are almost
endless.
4. Elements are classified as either metals, nonmetals, or
metalloids while compounds are classified according to their
bonds.

Question No: 12

a ) Define a mixture. (2 Marks)

Rubrics: Award two marks for the correct defination.
Model answer: A sample of such things which are gathered
physically, not chemically combined is called a mixture.
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Differentiate between homogeneous and heterogeneous mixtures. (2+2=4 Marks)

Rubrics: Award two marks for each correct difference.

Model answer: (i) Homogeneous mixture: A mixture having
uniform composition and properties throughout the sample is
called a homogenous mixture.

(ii) Heterogeneous mixture: A mixture whose composition and
properties are not uniform throughout the sample is called a
heterogeneous mixture.
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Identify examples of homogeneous and heterogeneous mixtures from the following. (4 Marks)

air, pizza, water and wood.

Rubrics: Award one mark for each correct identification.
Model answer: Examples of homogeneous mixtures: air and

water.

Examples of heterogeneous mixtures: pizza and wood.
Question No: 13
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a ) Define a parallel circuit and write down its advantages. (2+2=4 Marks)

Rubrics;: Award two marks for correct identification and two
marks for correct advantage.
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Model answer: In a parallel circuit, Two or more electric devices ;bljfuf.'(d]ﬂJf);u;‘.flQUTJ/MLJL»:uﬁJ/JJ!ﬁ.-:VIKKJ_/

are connected independently across a source (cell or battery)
giving multiple paths for the current to flow.

The advantage of a parallel circuit over a series circuit is that a
break or fault at some branch device will not stop the current
flow to the other branches or devices. Only the faulty branch
device will have a break in the current flow.
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Define electric circuit. Explain closed circuit with the help of a diagram. (2+4=6 Marks)
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Rubrics: Award two marks for correct definition and four marks for
correct explanation.

Model answer:" Electric circuit is a path of flow of current”. In our
homes, we turn ON the switch to light a bulb or to run a fan. The same
switch is also used to turn them OFF.

Closed circuit: Turning the switch ON, the circuit becomes complete or
closed due to which the current starts flowing through it.

Draw the symbols of given electric components. (5 Marks)
Battery, switch on, switch off, bulb, cell

Rubrics: Award one mark for each correct symbol.
Model answer:
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